


/1. KOMMNOHEHTbI CITOXEeHUS

*a+B=C
* a-—nepBoe
cnaraemoe
28 — BTOpOE crnaraemoe

=7

W~ «c — cymMma




/ 2. KOMNOHEHTbI BbIMUTAHUSA

*‘a—-B=C
* 3 — YMEHbLLAEMOE
*B — BblYUTAEMOE
* C— Pa3HOCTb




" 3. KOMMOHEHTbI YMHOXeHMS

*‘a*B=C
*a — NMepBbIn
MHOXUTENb
%8 — BTOPON MHOXMWTENb

/-ﬁ-

\"=° eC-- pON3BEdEHNE




4. KOMMNOHEHTbI JeneHus

*a:B=C
*a — AEeNMoe
B — JeNnunTenb
*C —YacTHOE




" 5.YT0OObl HANTN HEN3BECTHOE
craraemoe Hy>XHO U3 CyMMb
BblYeCTb M3BECTHOE charaemoe.

*a+B=C X+5-=
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6. UTOObI HAUTU HEN3BECTHOoEe
YMEHbLLAaeEMOE HYXXHO K pa3HOCTU
npnbaBnTb BblYNTAEMOE.

‘da—B=C

‘C+B=2a X-5=15
X=15+5
X=20




" 7.YT100ObI HANTU HEN3BECTHOE
BblYMTAEMOE HY>XXHO U3
YMEHbLLIAEMOTO BblYECTb Pa3HOCTb.

*‘a—B=C 17/—X=10

X=17-10
X=17




8. YT100bI HAUTN HEN3BECTHbIV
MHOXWTENb HY>XHO NMpoun3BeaeHne
pa3gennTb Ha U3BECTHLIN
MHOXUTEND.

ea*B=C X*5=15

C:a=8B X=15:5
X= 3

_




9. HTOObI HAUTN HEN3BECTHOE
[OEeNUMOe HY>KHO AennTerb
YMHOXWTb Ha YacCTHOeE.

‘a:B=C X:6=2

X=2% 6

X=12
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~10. YT1O0OBbI HANTU HEU3BECTHbIN
OenuTenb HY>XXHO aenumoe
pa3gennTb Ha YaCcTHOeE.

*a:B=C 10: x=2

X =10:2
X=5




